
1Achievers

ICDS Main Exam Practice Set
Paper - IV (Arithmetic) Answers with Explanation

1. •!îû– ‰þyöìœîû !˜öì’Åëû þ™!îû›y’ = x ö„þ!‹
öî!Ÿ !”˜– öî!Ÿ ‰þyœ S¢›y˜%þ™y“þV
7 : 49 : 238 : x  7 × x = 49 × 238

 x
(49 238)

7


  = 1666 ö„þ!‹

2. •!îû– îy!„þ îy!„þ ¦þy† ¦þîûöì“þ ¢›ëû œyöì† = x !›!˜Ýþ

îy!„þ ¦þy†
4 5

1
9 9

    
 

öî!Ÿ ¦þy†– öî!Ÿ ¢›ëû S¢›y˜%þ™y“þV

4 5 4 5 5 9 5
: ::1: x x 1

9 9 9 9 9 4 4
        
 

 !›!˜Ýþ

3. •!îû– !˜öì’Åëû !”˜ ¢‚…Äy = x
„þ› öœy„þ– öî!Ÿ !”˜ SîÄhßþy˜%þ™y“þV
„þ› ‰þyœ– „þ› !”˜ S¢›y˜%þ™y“þV
öœy„þ
‰þyœ

30   : 60
280 : 120

:: 14 : x

 (30 × 280 × x) = (60 × 120 × 14)

(60 120 14)
x x 12

(30 280)

 
   


!”˜

4. îy!„þ !”˜ = (100 – 80) !”˜ = 20 !”˜

îy!„þ îûyhßþyîû ÷”‡ÅÄ
7 3

5
2 2

    
 

 !„þ!›

•!îû– ~…˜ ö›yÝþ ×!›„þ ¢‚…Äy = x
„þ› ÷”‡ÅÄ– „þ› ×!›„þ S¢›y˜%þ™y“þV
„þ› !”˜– öî!Ÿ ×!›„þ SîÄyhßþy˜%þ™y“þV

÷”‡ÅÄ

!”˜
:: 280 : x

7 3
:

2 2
20 : 80

7 3
20 x 80 280

2 2
           
   
 70x = 3 × 40 × 280

(3 40 280)
x 480

70

 
  

x!“þ!îû_« ×!›öì„þîû ¢‚…Äy = (480 – 280) = 200
5. •!îû– !˜öì’Åëû !”˜ ¢‚…Äy = x

„þ› îÄ!_«– öî!Ÿ !”˜ SîÄyhßþy˜%þ™y“þV
÷”!˜„þ öî!Ÿ ‡^ùÝþy– „þ› !”˜ SîÄyhßþy˜%þ™y“þV
öî!Ÿ „þy‹– öî!Ÿ !”˜ S¢›y˜%þ™y“þV

îÄ!_«
÷”!˜„þ ‡^ùÝþy

„þy‹

20  : 25
10  :  8

1  :  2
:: 15 : x

 (20 × 10 × 1 × x) = (25 × 8 × 2 × 15)

200 30
x x 30

200


    !”˜

6. 3300 ‹öì̃ îû 850 @ùÌy› ²Ì!“þ‹˜ !£öì¢öìî (32 – 7) = 25
!”öì̃ îû …yîyîû îûöìëûöìŠéÐ
•!îû– x ‹˜ xyöìîûy ~œÐ
(3300 + x) ‹öì̃ îû 825 @ùÌy› ²Ì!“þ‹˜ !£öì¢öìî 17 !”öì̃ îû
…yîyîû îûöìëûöìŠéÐ
„þ› …yîyîû/îÄ!_«– öî!Ÿ îÄ!_«îû ‹˜Ä SîÄyhßþy˜%þ™y“þV
„þ› !”˜– öî!Ÿ îÄ!_«îû ‹˜Ä SîÄyhßþy˜%þ™y“þV
…yîyîû
!”˜

825 : 850
  17 : 25

:: 3300 : (3300 + x)

 825 × 17 × (3300 + x) = 850 × 25 × 3300

850 25 3300
(3300 x) 5000

825 17

 
   


 x = (5000 – 3300) = 1700
˜“%þ˜ îÄ!_« = 1700

7. •!îû– …yîyöìîû !˜öì’Åëû þ™!îû›y’ = x ö„þ!‹
öî!Ÿ †îû&– öî!Ÿ ö„þ!‹ S¢›y˜%þ™y“þV
öî!Ÿ !”˜– öî!Ÿ „þy‹ S¢›y˜%þ™y“þV
†îû&
!”˜

15 : 18
  9 : 30

:: 2700 : x

 (15 × 9 × x) = (18 × 30 × 2700)

(18 30 2700)
x 10800

(15 9)

 
  


ö„þ!‹

8. •!îû– „þëûœyîû !˜öì’Åëû …îû‰þ = x Ýþ˜
öî!Ÿ £z!O˜– öî!Ÿ „þëûœyîû …îû‰þ S¢›y˜%þ™y“þV
öî!Ÿ ‡^ùÝþy/!”˜– öî!Ÿ „þëûœy …îû‰þ S¢›y˜%þ™y“þV
„þ› …îû‰þ ”îû– „þ› „þëûœy …îû‰þ S¢›y˜%þ™y“þV
•!îû– ²Ìí› 3!Ýþ £z!O˜ 1 ~„þ„þ …îû‰þ „þöìîû– “þy£öìœ ²Ìöì“þÄ„þ £z!Oöì̃ îû

…îû‰þ
1

3


~„þ£z¦þyöìî– !m“þ#ëû ²Ì„þyîû ²Ì!“þ!Ýþ £z!Oöì̃ îû …îû‰þ
1

4


£z!O˜
„þyöì‹îû ‡ ù̂Ýþy

…îûöì‰þîû ”îû

5 : 8
  9 : 10 :: 6 : x

1 1
:

3 4

1 1
5 9 x 8 10 6

3 4
             
   

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å



xÄy!‰þ¦þy¢ Åî¡ìÅ éôé 8– £z¢%Ä éôé 7  xöìQyîîû– 20202

 15x = 120  x = 8 ö›!ÝþÆ„þ Ýþ˜
9. •!îû– x = 3.87 “þy£öìœ– x = 3.878787....

 100x = 387.8787...

¢%“þîûy‚ 99x = 384  x =
384

99
xyîyîû •!îû– y = 2.59 “þy£öìœ– y = 2.595959...
 100y = 259.5959....

¢%“þîûy‚ 99y = 257  y =
257

99
384 257 127

(3.87 2.59) 1.28
99 99 99
       
 

10. •!îû– x = 0.4777... “þy£öìœ– 10x = 4.777...
 100x = 47.777...

!îöìëûy† „þîûyîû þ™îû 90x = 43  x =
43

90

¢%“þîûy‚ 0.4777... =
43

90

11.
5 9 7 3

0.714, 0.818, 0.777, 0.6
7 11 9 5
   

ßþ™ÜT“þ£z– 0.818 > 0.777 > 0.714 > 0.6 xíÅyê

9 7 5 3

11 9 7 5
  

 îvþü öíöì„þ öŠéyöìÝþy e«› £œ
9 7 5 3

, , ,
11 9 7 5

12. 60. 48, 36, 24 ~îû †.¢y.= = 12.
260 = 2(5×12) = (25)12 = (32)12.
348 = 3(4×12) = (34)12 = (81)12.
436 = 4(3×12) = (43)12 = (64)12.
524 = 5(2×12) = (52)12 = (25)12.
~öì”îû ›öì•Ä ¢îöì‰þöìëû îvþü ¢‚…Äy (81)12 = 348

13. ²Ì”_ îûy!Ÿ
1 1 1

3
3 (3 3) (3 3)

   
 

       3 3 1 3 3 3 3 3 3 1 3 2 3

(9 3) 3 63

    
   



9 3 3 9 3 3 9
3

3 3 3 3

  
    

14. •!îû– {(35)2 + (38)2} ÷ x = 5 “þy£öìœ–
2 2(35) (38)

5
x




2 2(35) (38) (1225 1444) 2669
x 533.8

5 5 5

 
    

15.  
 

 
 

 
 

3 2 3 2 3 2

3 2 3 2 3 2

  
 

  

   
2

23 2
3 2

(3 2)


  



!˜öì’Åëû î†Å›)œ  3 2  = (1.732 + 1.414) = 3.146.

16. •!îû– ö„þyöì̃ y !‹!˜öì¢îû •yëÅ›)œÄ = 100 Ýþy„þy
“þy£öìœ– !‹!˜¢!Ýþîû !îe«ëû›)œÄ = 100 Ýþy„þyîû 70% ~îû 80%
~îû 95%

70 80 95
100 53.20

100 100 100
      
 

Ýþy„þy

!˜öì’Åëû ¢›“%þœÄ ~„þ„þ Šéyvþü = (100 – 53.20) Ýþy„þy = 46.80
Ýþy„þy

17. •!îû– ²Ìí› ‰þyöìëûîû ”îû = x ²Ì!“þ !„þ@ùÌy Ýþy„þy

˜“%þ˜ ”îû
90 9x

x
100 10

    
 

 Ýþy„þy ²Ì!“þ !„þ@ùÌy

22500 22500 22500 10 22500
25 25

(9x /10) x 9x x


    

25000 22500
25

x x
  

 25x = (25000 – 22500) = 2500

2500
x 100

25
    Ýþy„þy ²Ì!“þ !„þ@ùÌy

18. !îe«ëû›)œÄ = 100 Ýþy„þy– œy¦þ = 20 Ýþy„þyÐ
¢%“þîûy‚ e«ëû›)œÄ = (100 – 20) = 80 Ýþy„þyÐ

 œy¦þ %
20

100 % 25%
80
    
 

19. 144!Ýþ !vþöì›îû e«ëû›)œÄ = 144 Ýþy„þy
(144 – 20)!Ýþ !vþöì›îû !îe«ëû›)œÄ = (124 × 1.20) = 148.80
Ýþy„þy
œy¦þ = (148.80 – 144) = 4.80 Ýþy„þy

œy¦þ %
4.80 480 10 1

100 % % % 3 %
144 144 3 3
      
 

20. •!îû– ²Ì!“þ!Ýþ öîû!vþçîû !îe«ëû›)œÄ = x Ýþy„þy– “þy£öìœ

100 100 4x 4x
x x 6400 6400

125 75 5 3
            
   

 (12x + 20x) = 96000  32x = 96000  x =
3000
 ²Ì!“þ!Ýþ öîû!vþçîû !îe«ëû›)œÄ = 3000 Ýþy„þyÐ

21. •!îû– …!˜‹ þ™”yöìíÅîû– ×!›„þ …îû‰þ ~î‚ x!“þ!îû_« …îû‰þ þ™)öìîÅ !Šéœ
ëíye«öì› 4x Ýþy„þy– 3x Ýþy„þy ~î‚ 2x Ýþy„þy
þ™)öìîÅ ö›yÝþ …îû‰þ = (4x + 3x + 2x) Ýþy„þy = 9x Ýþy„þy
~£z îŠéîû ö›yÝþ …îû‰þ

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å



3Achievers
= {(4x ~îû 110%) + (3x ~îû 108%) + (2x ~îû 95%)}
Ýþy„þy

110 108 95
4x 3x 2x

100 100 100

                       

22x 81x 19x (220x 162x 95x)

5 25 10 50

      
 

477x

50
  Ýþy„þy

ö›yÝþ î,!kþ
477x 27x

9x
50 50

    
 

 Ýþy„þy

î,!kþ %
27x 1

100 % 6%
50 9x
     
 

 Ýþy„þy

22. X !›×öì’îû 1 !œÝþyöìîû
3

A
10
  !œÝþyîû–

5
B

10
  !œÝþyîû–

2
C

20
  !œÝþyîû

Y !›×öì’îû 2 !œÝþyöìîû
4 8

A 2
9 9
    
 

 !œÝþyîû–

5 10
B 2

9 9
    
 

!œÝþyîû

vþz¦þöìëûîû 3 !œÝþyîû !›×öì’–
3 8 107

A
10 9 90
        
   

 !œÝþyîû

3000 !›!œöì“þ A
107

1000
90
   
 

!›!œ

540 !›!œöì“þ A
107000 1

540 214
90 3000

     
 

!›!œ

23. •!îû– ²Ìí› •y“%þîû x ö„þ!‹îû ¢yöìí !m“þ#ëû •y“%þîû (8 – x) ö„þ!‹
ö›Ÿyöì̃ y £œÐ
²Ìí› •y“%þöì“þ îû*þ™y ç “þy›yîû x˜%þ™y“þ = 7 : 3

²Ìí› •y“%þîû x ö„þ!‹öì“þ îû*þ™yîû þ™!îû›y’
7 7x

x
10 10

    
 

ö„þ!‹
!m“þ#ëû •y“%þöì“þ îû*þ™y ç “þy›yîû x˜%þ™y“þ = 5 : 1
!m“þ#ëû •y“%þîû (8 – x) ö„þ!‹öì“þ îû*þ™yîû þ™!îû›y’

5
(8 x)

6
    

 ö„þ!‹

ö›yÝþ 8 ö„þ!‹ !›×öì’ îû*þ™yîû þ™!îû›y’

75
8 6

100
    
 

ö„þ!‹

7x 5
(8 x) 6 21x 25(8 x) 180

10 6
        

 4x = 20  x = 5

24. A : B = 3 : 1
B : C = 2 : 1
¢›öìëûîû x˜%þ™y“þ
B : C = 1 : 2
 C 74 !›!˜öìÝþ x!“þe«› „þîûöìœ B x!“þe«› „þîûöìî

1
74 37

2
   !›!˜Ýþ

25. P : Q : R = (45000 × 2) : (70000 × 2) : (90000
× 2) = 90 : 140 : 180 = 9 : 14 : 18
ö›yÝþ œy¦þ = 164000 Ýþy„þy

Q ~îû ¦þy†
14

164000 56000
41

    
 

= 56000 Ýþy„þy

26. A ~îû ›)œ•˜ = [50000 × 4) + (25000 × 8) = 400000
Ýþy„þyÐ

B ~îû ›)œ•˜
2

(45000 4) 45000 8
3

          
= 420000 Ýþy„þyÐ

C ~îû ›)œ•˜ = [70000 × 8) = 560000 Ýþy„þyÐ
A : B : C = 400000 : 420000 : 560000 = 40 : 42
: 56 = 20 : 21 : 28
ö›yÝþ œy¦þ = 41400 Ýþy„þy

C ~îû ¦þy†
28

41400
69

   
 

 = 16800 Ýþy„þy

27. A, B, C, D ~îû ¦þyvþüyîû x˜%þ™y“þ
= (18 × 4) : (25 × 2) : (28 × 5) : (21 × 3)
= 72 : 50 : 140 : 63
•!îû ¦þyvþüyöì“þ A ~îû ¦þy† = 72x Ýþy„þy– B ~îû ¦þy† = 50x Ýþy„þy–
C ~îû ¦þy† = 140x Ýþy„þy ~î‚ D ~îû ¦þy† = 63x Ýþy„þy

 72x = 3600  x =
3600

72
= 50

“,þ’¦)þ!›îû ö›yÝþ ¦þyvþüy = (72x + 50x + 140x + 63x) =
325x Ýþy„þy = (325 × 50) = 16250 Ýþy„þy

28. (A + B) ~îû 2 !”öì̃ îû „þy‹
1 1 5 1

10 15 30 6
     
 

1

6
 ¦þy† „þy‹ „þîûöì“þ “þyöì”îû ¢›ëû œyöì† = 2 !”˜

¢Á™)’Å „þy‹ „þîûöì“þ “þyöì”îû ¢›ëû œyöì† = (2 × 6) = 12 !”˜Ð
29. 2 !”öì̃  „þy‹ £ëû = (2A + B + C) ~îû „þy‹

2 1 1 (40 11 4) 55 1

11 20 55 220 220 4

        
 

1

4
 ¦þy† „þy‹ öŸ¡ì = 2 !”öì̃

¢Á™)’Å „þy‹ öŸ¡ì £öìî = (2 × 4) = 8 !”öì̃

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å



xÄy!‰þ¦þy¢ Åî¡ìÅ éôé 8– £z¢%Ä éôé 7  xöìQyîîû– 20204

30. 1 ‹˜ ›!£œyîû 1 !”öì̃ îû „þy‹
1 1 1 1 (3 1

3 6 18 3 18

      
 

1 4 (6 4) 2 1

3 18 18 18 9

      
 

¢%“þîûy‚ 1 ‹˜ ›!£œy ~„þy „þy‹!Ýþ 9 !”öì̃  öŸ¡ì „þîûöìîÐ
31. 1 þ™%îû&¡ì „þy‹ öŸ¡ì „þîûöìî = (6 × 12) = 72 !”öì̃

1 ›!£œy „þy‹ öŸ¡ì „þîûöìî = (8 × 18) = 144 !”öì̃
1 îyœ„þì „þy‹ öŸ¡ì „þîûöìî = (18 × 10) = 180 !”öì̃
(y þ™%îû&¡ì + 12 ›!£œy + 20 îyœ„þV ~îû 2 !”öì̃ îû „þy‹

4 12 20 1 1 1
2 2

72 144 180 18 12 9
           
   

2(2 3 4) 1

36 2

 
 

72 þ™%îû&¡ì ¢Á™)’Å „þy‹ öŸ¡ì „þîûöìî 1 !”öì̃
1

2
 ¦þy† „þy‹ 1 !”öì̃  „þîûöìî 36 þ™%îû&¡ìÐ

32. 3 !”öì̃  „þy‹ £ëû
3

8

îy!„þ „þy‹
3 5

1
8 8

    
 

„þ› „þy‹– „þ› ×!›„þ S¢›y˜%þ™y“þV
„þ› !”˜– öî!Ÿ ×!›„þ SîÄyhßþy˜%þ™y“þV

„þy‹

!”˜

1 :

4 : 8
:: 12 : x

5
8

 1 × 4 × x =
5

8
 × 8 × 12  4x = 60  x =

15
î,!kþ „þîûy ×!›öì„þîû ¢‚…Äy = (15 – 12) = 3

33. •!îû– 1 ‹˜ þ™%îû&öì¡ìîû 1 !”öì̃ îû „þy‹
1
x  ~î‚ 1 ‹˜ îyœöì„þîû 1

!”öì̃ îû „þy‹
1
y Ð “þy£öìœ–

6 8 1

x y 10
    ...(i) ~î‚

26 48 1

x y 2
  ...(ii)

(ii) ö„þ 3 !”öìëû ~î‚ (i) ö„þ 13 !”öìëû =˜ „þöìîû !îöìëûy† „þöìîû
þ™y£z ­

144 104 3 13 40 2 1
y 200

y y 2 10 y 10 5
       

(i) ~ y = 200 î!¢öìëû þ™y£z ­

6 1 1 1 1 1 3

x 25 10 6 10 25 50
       
 

6 50
x 100

3


  

(15 þ™%îû&¡ì + 20 îyœ„þV ~îû 1 !”öì̃ îû „þy‹

15 20 15 20 50 1

x y 100 200 200 4

           
  

¢%“þîûy‚ 13 ‹˜ þ™%îû&¡ì ~î‚ 20 ‹˜ îyœ„þ „þy‹!Ýþ 4 !”öì̃  öŸ¡ì
„þîûöìîÐ

34. ßþ™ÜT“þ£z (3 × 6) þ™%îû&öì¡ìîû 1 !”öì̃ îû „þy‹ = 1
~î‚ (6 × 18) ›!£œyîû 1 !”öì̃ îû „þy‹ = 1

 1 þ™%îû&öì¡ìîû 1 !”öì̃ îû „þy‹
1

18
~î‚ 1 ›!£œyîû 1 !”öì̃ îû „þy‹

1

108
(2 þ™%îû&¡ì + 12 ›!£œyV ~îû 1 !”öì̃ îû „þy‹

1 1 1 1 2
2 2

18 108 9 9 9
                
     

 2 þ™%îû&¡ì ~î‚ 12 ›!£œy ~£z „þy‹!Ýþ
9

2
 xíÅyê

1
4

2
!”öì̃  öŸ¡ì

„þîûöìîÐ
35. ²Ì”_

M
1
 = 15, H

1
 = 8, D

1
 = 20, D

2
 = 12, M

2
 = 20,

H
2
 = x

!˜öì’Åëû ¢›ëû 1 1 1

1 1

M D H 15 20 8
10

M D 20 12

   
  

 
 ‡^ùÝþy

36. ²Ì”_ ²ÌÙÀ x˜%¢yöìîû– 18.24 ›!£œy = 24 × 15 þ™%îû&¡ì  6
›!£œy = 5 þ™%îû&¡ì
16 ‹˜ ›!£œy 3 !”˜ „þy‹ „þöìîûÐ

1 1 2 2

1 2

M D M D

W W
 

2

18 24 16 3

1 W

 
 

2

24 15 20 2

1 W

 
 

2

20 2 1
W

24 15 9


  



îy!„þ „þy‹
8 1 7

9 9 9
  

20 þ™%îû&¡ì + 16 ›!£œy
= (6 × 4 + 16) ›!£œy = 40 ›!£œy
18 ‹˜ ›!£œy 24 !”öì̃  ~„þ!Ýþ „þy‹ „þöìîûÐ

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å
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1 1 2 2

1 2

M D M D

W W
 

240D18 24
71
9


 

2

7
40 D 18 24

9
    

2

7 48 42 2
D 8

40 5 3


    !”˜

37. •!îû– ö›yÝþ ”)îûc = x !„þ!›– “þy£öìœ
x x x x

10 10
2 40 2 60 80 120

    
 
 3x + 2x = 2400  5x = 2400  x = 480
!˜öì’Åëû ”)îûc = 480 !„þ!›

38. þ™yöìëû ö£¤öìÝþ öëöì“þ ¢›ëû œyöì†

1 1 1 25 25
8

2 3 2 3 6
          
   

 ‡^ùÝþy = 4 ‡^ùÝþy 10 !›!˜Ýþ

ö‡yvþüyëû ‰þöìvþü xy¢öì“þ ¢›ëû œyöì†
= (4 ‡^ùÝþy 30 !›!˜ÝþV éôôôé (4 ‡^ùÝþy 10 !›!˜ÝþV = 20 !›!˜Ýþ
ö‡yvþüyëû ‰þöìvþü öëöì“þ xy¢öì“þ ¢›ëû œyöì†
= (2 × 20) !›!˜Ýþ = 40 !›!˜Ýþ

39. •!îû öÝþÆ̃  ”%!Ýþ ‰þœyîû x ‡^ùÝþy þ™öìîû !›!œ“þ £öìîÐ “þy£öìœ
60x – 50x = 120  10x = 120  x = 12
12 ‡^ùÝþyëû ²Ìí› öÝþÆ̃ !Ýþ ëyëû = (50 × 12) = 600 !„þ!›
12 ‡^ùÝþyëû !m“þ#ëû öÝþÆ̃ !Ýþ ëyëû = (60 × 12) = 720 !„þ!›
”)îûc AB = (600 + 720) = 1320 !„þ!›

40. •!îû ö¢ þ™y£yöìvþü x !„þ!› vþzöìàþ!ŠéœÐ “þy£öìœ–
x x x 2x

5 5
3 4.5 3 9
    

 3x + 2x = 45  5x = 45  x = 9

!˜öì’Åëû vþzF‰þ“þy = 9 ‡^ùÝþyÐ

41. •!îû– !“þ˜!Ýþ @Õy¢ A, B, Céôé~îû •yîû’ Çþ›“þy 1 !œÝþyîû– 2 !œÝþyîû
~î‚ 3 !œÝþyîûÐ

Aôéö“þ xÄyœöì„þy£œ 1 1
1

6 6
     

!œÝþyîûÐ

‹œ
1 5

1
6 6

       !œÝþyîûÐ

Bôéö“þ xÄyœöì„þy£œ
3 3

2
8 4

     
!œÝþyîûÐ

‹œ
3 5

2
4 4

       !œÝþyîûÐ

Côéö“þ xÄyœöì„þy£œ 5 5
3

12 4
     

!œÝþyîûÐ

‹œ
5 12 5 7

3
4 4 4

      
 !œÝþyîûÐ

@Õy¢=!œîû !›×öì’ xÄyœöì„þy£œ
 2 9 151 3 5 26

6 4 4 12 12

        
 !œÝþyîûÐ

@Õy¢=!œîû !›×öì’ ‹œ

 10 15 215 5 7 46

6 4 4 12 12

        
 !œÝþyîûÐ

˜“%þ˜ þ™yöìe xÄyœöì„þy£œ ­ ‹œ 26 46
: 13 : 23

12 12
 

42. •!îû– ²Ìí› þ™yöìe xyöìŠé x !œÝþyîû– !m“þ#ëû þ™yöìe xyöìŠé y !œÝþyîû
~î‚ “,þ“þ#ëû þ™yöìe xyöìŠé z !œÝþyîû ‹œÐ

²Ìí› þ™ye öíöì„þ ö“þyœy £œ
1 x

x
3 3

    !œÝþyîû ‹œÐ

²Ìí› þ™yeöì“þ ~…˜ xyöìŠé
x 3x x 2x

x
3 3 3


     !œÝþyîû

‹œÐ

!m“þ#ëû þ™yeöì“þ ~…˜ xyöìŠ  =
x 3y x

y
3 3


  é !œÝþyîû ‹œÐ

“,þ“þ#ëû þ™ye öíöì„þ ö“þyœy £œ =
1 z

z
4 4
   !œÝþyîû ‹œÐ

“,þ“þ#ëû þ™yeöì“þ ~…˜ xyöìŠ
z 4z z 3z

z
4 4 4


    é !œÝþyîû

‹œÐ

²Ìí› þ™yöìe ~…˜ xyöìŠ
2x z 8x 3z

3 4 12


   !œÝþyîû ‹œÐ

²ÌÙÀy˜%ëyëû#– 3z 1

4 10
1 4 2

z
10 3 15

 

    !œÝþyîû ‹œ

²ÌÙÀy˜%ëyëû#– 8x 3z 1

12 10




îy–
2 1 2

8x 3 12 z
15 10 15

             


îy–
2 6

8x
5 5
 

îy–
 6 26 2 4

8x
5 5 5 5


   

4 1
x

5 8 10
  


 !œÝþyîû ‹œÐ

²ÌÙÀy˜%ëyëû#– 3y x 1

3 10




xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å



xÄy!‰þ¦þy¢ Åî¡ìÅ éôé 8– £z¢%Ä éôé 7  xöìQyîîû– 20206

îy–
3

3y x
10

 

îy–
1 3 1

3y x
10 10 10

     


îy–
 3 13 1 2 1

3y
10 10 10 10 5


    

1 1
y

5 3 15
  


 !œÝþyîû ‹œÐ

Öîû&öì“þ ²Ìöì“þÄ„þ þ™yöìe ‹öìœîû þ™!îû›y’ !Šéœ 1

10
 !œÝþyîû–

1

15

!œÝþyîû–
2

15
 !œÝþyîûÐ

43. x˜%„)þœ ¢›ëû ­ ²Ì!“þ„)þœ ¢›ëû = 1 : 2 £öìœ–
ößþËyöì“þîû öî† ­ !ßþiîû ‹öìœ ö˜ï„þyîû öî† = 1 : 3 £öìîÐ

44. „þœ„þy“þy öíöì„þ !”!ÍÔ öëöì“þ öÝþÆ̃ !Ýþîû ¢›ëû œyöì† a
x  ‡^ùÝþy ç

!šþöìîû xy¢öì“þ ¢›ëû œyöì† a
y  ‡^ùÝþyÐ

 2a !„þ!› ëy“þyëûyöì“þ ¢›ëû œyöì† ö›yÝþ
a a
x y
  
 

 ‡^ùÝþy

 a x y
xy


  ‡^ùÝþy

 †vþü †!“þöìî† ‡^ùÝþyëû  
2xy2a
x ya x y

xy

 


!„þ!›

45. †!“þöìîöì†îû x˜%þ™y“þ = ²Ìí› ­ !m“þ#ëû

b : a 4 : 1 2 :1 

²Ìí› öÝþÆ̃ !Ýþîû †!“þöìî† !m“þ#ëû öÝþÆ̃ !Ýþîû †!“þöìîöì†îû 2 =’

46. î£z!Ýþîû ö›yÝþ þ™y“þyîû
3

1-
11

 
   þx‚öìŸîû

2
1-

5
 
   x‚Ÿ = 72

 þö›yÝþ þ™y“þyîû
8 3

× = 72
11 5

 þö›yÝþ þ™y“þy 11×5
= 72× =165

8×3
47. 309 – 3 = 306

814 – 4 = 810 = 2219 – 5 = 2214
~öì”îû †.¢y.= £œ î,£_› ¢‚…Äy xíÅyê vþz_îû 18

48. 3 15x, 15y

5  5x, 5y
x, y

3 × 5 × x × y = 1800

xy = 120 x ç y-~îû ›öì•Ä !„þŠ%é „þ›˜ íy„þöìî ̃ yÐ
¢½þîþ™îû=!œ £œ 1, 120

îy– 3, 40 îy– 5, 24 îy– 8 – 15
!„þlsþ öëöì£“%þ !“þ˜ xöìBþîû =15x = 15 × 8 = 120

15y = 15 × 15 = 225
49. ²Ìí› !›×öì’ ”%• = 5/9

²Ìí› !›×öì’ ‹œ = 4/9
!m“þ#ëû !›×öì’ ”%• = 2/3
!m“þ#ëû !›×öì’ ‹œ = 1/3
ö›yÝþ ”%•  = 5/9 + 2/3 = 11/9
ö›yÝþ ‹œ  = 4/9 + 1/3 = 7/9
˜“%þ˜ !›×öì’ ”%• ­ ‹œ  = 11/9 : 7/9 = 11 : 7

50. ”hßþy xyöìŠé = 16 × 5/8 = 10 ö„þ!‹
“þy›y xyöìŠé = 16 – 10 = 6 ö„þ!‹
˜“%þ˜ !›×öì’ ”hßþyé = 16 × 3/4 = 12 ö„þ!‹
”hßþy ö›Ÿyöì“þ £öìîé = 12 – 10 = 2 ö„þ!‹

51. 1 : 3x %̃þ™yöì“þîû ¢›!ÜT = 4   2 : 3 þx %̃þ™yöì“þîû ¢›!ÜT = 5

3 x˜%þ™y“þ xþ™!îûî!“Åþ“þ ¢%“þîûy‚ ‹öìœîû î,!kþ =5–4= 1
 4 c.c.-ö“þ 1 c.c. !›Ÿyöì“þ £öìîÐ
240 c.c.-ö“þ 240

4
= 60 c.c. !›Ÿyöì“þ £öìîÐ

52. 60 !”öì̃ îû ›öì•Ä 15 !”˜ x!“þîy!£“þ £öìœ îy!„þ !”˜¢‚…Äy
= (60 – 15) !”˜ = 45 !”˜
îy!„þ ÷¢˜Ä ¢‚…Äy = 1600 – 600 = 1000 !”˜
îÄhßþ¢›y %̃þ™y“þ!Ýþ £œ 1600 : 45 :: 1000 : ?

!˜öì’Åëû !”˜¢‚…Äy 1600 45
1000
 !”˜ é= 72 !”˜

53. A = 18 !”öì̃
B, Aéôé~îû !m=’ „þ›ÅÇþ›“þyŸ#œ

B ú „þy‹!Ýþ „þîûöìî 18
2

  9 !”öì̃

54. A, B ç Céôé~îû œ¦þÄy‚öŸîû x˜%þ™y“þ

         31 4 2 8 : 3 4 8
2

     

    5: 5 4 8
2

   = 20 : 24 : 40 = 5 : 6 : 10

55. œy¦þ = (26250 – 25000) = 1250 Ýþy„þy

›)œ•öì̃ îû x˜%þ™y“þ =
311 :1 :1 3:2

2 2
 

›•% þ™yöìî 21250 500
5

    Ýþy„þyÐ

56. 100 öîöìvþü 125 £ëû
125 ~ „þ›yöì“þ £öìî 25

 100 ö“þ „þ›yöì“þ £öìî
25

100 20%
125
 

57. xöìBþ öšþœ = 62%

£z‚öìîû!‹öì“þ öšþœ = 100 – 52 = 48%
vþz¦þëû !î¡ìöìëû öšþœ = 22%

ö›yÝþ = (62 – 22)% + (48 – 22)% + 22%  = 88%
 ö›yÝþ þ™yŸ = 100 – 88% = 12%
 12%  108 ‹˜

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å
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100% 108
12

×100 = 900

58. 100 îŠéîû
59. 25 !›Ýþyîû
60. 22 km
61. 40 !Ýþ
62. 4 ‹˜
63. (50.75 + 68.58 + 121.03)  12 = 20.03 !›ÝþyîûÐ

64.

2

2
56

36

40

1 1

60
2 2

¢›@ùÌ öÇþešþœ = 60 × 40 = 2400 î†Å!›Ýþyîû
îûyhßþy îÄ“þ#“þ öÇþešþœ = 56 × 36 = 2016 î†Å!›Ýþyîû
îûyhßþyîû öÇþešþœ = 384 þî†Å!›Ýþyîû

65. öÇþešþœ = 120 × 100 – 100 × 80 = 100 (120 – 80)
= 4000  î†Å!›

66. ~…˜– 13 7 153, , ,
4 2 4 éôé~îû œ¢y=

œî=!œîû œ¢y=
£îû=!œîû †¢y==

   = 1365

1365 ö¢öì„þuþ xhsþîû ~„þ¢öìD îy‹öìî

 24 ‡^ùÝþyëû þþ™%̃ îûyëû ~„þ¢öìD îy‹öìî
24×3600 5760= =

1365 91
27=63 = 63
91 îyîû

67. •!îû– x !œÝþyîû ‹œ ö›Ÿyöì̃ y £öìëû!ŠéœÐ

Ÿ“þÅy˜%¢yöìîû– (6 – x) × 1.032 + x × 1 = 6.144
 – 0.032x = 6.144 – 6.192
x = 1.5

68. ²Ì!“þ þ™kþ!“þöì“þ 2 !œÝþyîû !ßþ™!îûÝþ xíÅyê 2 1
16 8
 x‚Ÿ !ßþ™!îûÝþ

“%þöìœ ö˜çëûyëû îy!„þ !ßþ™!îûÝþ 1 71–
8 8

  x‚Ÿ

 ²Ìí›îyöìîûîû þ™îû !ßþ™!îûöìÝþîû þ™!îû›y’ = (16 – 2) = 14 !œÝþyîû

!m“þ#ëû îyöìîûîû þ™îû !ßþ™!îûöìÝþîû þ™!îû›y’  714
8

  49
4

 !œÝþyîû

“,þ“þ#ëû ––      ––    ––         ––  49 7
4 8

 
343
32

 !œÝþyîû

 îy!„þ !›×öì’ ‹öìœîû þ™!îû›y’

=  34316 –
32

!œÝþyîû 169
32

 !œÝþyîû

¢îÅöìŸ¡ì !ßþ™!îûÝþ ­ ‹œ 343 169:
32 32

 = 343 : 169

69.
1
3

 ö„þ!‹

70. 9934

71. 20
72. îûyhßþyîû öÇþešþœ = 82 – (8 – 2 × 2)2  î†Åöì¢!rÝþ!›ÝþyîûÐ

= 82 – 42 = 64 – 16 = 48
73.  ›öì̃ „þ!îû– ÷”‡ÅÄ ~î‚ ²Ìßþi ëíye«öì› = 3x, 2x

3x × 2x = 726

îy– 2 726
x = =121

6

îy– x = 11 !›Ýþyîû
 ÷”‡ÅÄ 3 x 11 = 33 !›Ýþyîû
²Ìßþi 2 x 11 = 22 !›Ýþyîû
 þ™!îû¢#›y 2 x (33 + 22) = 110 !›Ýþyîû
 ²Ì!“þ !›Ýþyîû 15 Ýþy„þy !£¢yöìî ö›yÝþ …îû‰þ þ™vþüöìî
= (110 x 15) = 1650 Ýþy„þy

74. C „þy‹!Ýþîû ‹˜Ä þ™yöìî   31 800
5

    Ýþy„þy

 2 800
5

  Ýþy„þy = 320 Ýþy„þy

75. îûy› „þy‹!Ýþ öŸ¡ì „þöìîû = 10 !”öì̃

ŸÄy›  ––  ––  ––  é= 10×
100

(100 25) !”öì̃ = 8 !”öì̃

ë”%   ––   ––  –– = 8 ×
100

(100 60) !”öì̃ = 5 !”öì̃
îûy›– ŸÄy› ç ë”% ~„þöìe „þy‹!Ýþ öŸ¡ì „þöìîû

10 8 5
10 8 10 5 8 5

 
     !”öì̃

400
170
  !”öì̃ 62

17
  !”öì̃

76. A ~„þy 2
5

 x‚Ÿ „þy‹ 6 !”öì̃  „þîûöì“þ þ™yöìîû

“þy£öìœ 1 x‚Ÿ „þy‹ 56 15
2
   !”öì̃  „þîûöì“þ þ™yöìîû

B 1
3

 x‚Ÿ „þy‹ 10 !”öì̃  „þîûöì“þ þ™yöìîû
 1 x‚Ÿ „þy‹ 10 × 3 = 30 !”öì̃  „þîûöì“þ þ™yöìîû

A ç B ~„þöìe ~„þ!Ýþ „þy‹
xy

x y
30 15

45


10  !”öì̃  „þîûöì“þ þ™yîûöìî

“þy£öìœ 4
5

 x‚Ÿ „þy‹ „þîûöì“þ ¢›ëû œy†öìî 410 8
5

   !”˜

77.    4 5 650000 1 1 1
100 100 100
  

26 21 5350000
25 20 50

       = 57876 Ýþy„þy

78. A = 13.31 ö„þy!Ýþ– P = 10 ö„þy!ÝþÐ

²ÌÙÀy˜%¢yöìîû–
n

r
A = P 1

100
  
 

îy–
3

r
13.31 = 10 1

100
  
 

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å



xÄy!‰þ¦þy¢ Åî¡ìÅ éôé 8– £z¢%Ä éôé 7  xöìQyîîû– 20208

îy–
3

1331 r
 = 1

1000 100
  
 

îy–
3 3

11 r
 = 1

10 100
      
   

îy–
11 r

 = 1
10 100



îy–
r 11 1

 = 1 =
100 10 10

 îy– r = 10%

79. •!îû– ë”%îû ›)œ•˜ = x Ýþy„þy–
¢%“þîûy‚– ŸÄyöì›îû ›)œ•˜ = (400 + x) Ýþy„þy
~î‚ îûyöì›îû ›)œ•˜ = (200 + 400 + x) = (600 + x) Ýþy„þy
~…˜– x + (400 + x) + (600 + x) = 7000

 3x = 7000 – 1000 = 6000
 x = 2000

 îûy›– ŸÄy› ç ë”%îû “%þœÄ ›)œ•öì̃ îû x˜%þ™y“þ
= 2600 : 2400 : 2000 = 13 : 12 : 10

îûy› þ™yöìî =
13

3500
35
  = 1300 Ýþy„þy

80. „þ˜Äy ç þ™%öìeîû ›öì•Ä î!^ùÝþ“þ Ýþy„þyîû x˜%þ™y“þ
1 1

: 13 :15
100 (18 13) 10 100 (18 15) 10


     

„þ˜Äyîû x‚Ÿ
13

280000 130000
13 15
  


 Ýþy„þy

81.


3 2

1 1
 Aôé~îû œy¦þ = 24000 Ýþy„þy

 ö›yÝþ œy¦þ = (24000 + 4000) = 28000 Ýþy„þy

82. A, B, Céôé~îû ›)œ•öì̃ îû x˜%þ™y“þ =
1 1 1

: :
6 4 3

 = 2 : 3 : 4

•!îû– “þyöì”îû ›)œ•˜ ëíye«öì› 2x, 3x, 4x Ýþy„þy
A, B, Céôé~îû œyöì¦þîû x˜%þ™y“þ
= (2x × 12) : [(3x × 4) + (6x × 8)] : [(4x  ×
5) + (2x × 7)]
= 24x : 60x : 34x = 12 : 30 : 17

 Aéôé~îû œy¦þ =
12

11800
59
 Ýþy„þy = 2400 Ýþy„þy

83. 1 ›y¢ !£¢yöìî A, B, C-~îû “%þœÄ ›)œ•öì̃ îû x˜%þ™y“þ
= [(5000 × 12) + (1000 × 9)] : [(3000 × 2)
+ (3000 – 1000) × 10] : [(4000 × 7)]
= 69000 : 26000 : 28000 = 69 : 26 : 28

 A þ™yöìî =
69

24600
123
  Ýþy„þy = 13800 Ýþy„þy

84. A ç Béôé~îû ›)œ•öì̃ îû x %̃þ™y“þ = 1500 : 900 = 5 : 3

œy¦þ £öìëûöìŠé 800 Ýþy„þyÐ

90 5B 800 450
100 8

    Ýþy„þy

85. Q
1
V

1
 = Q

2
V

2

x × 100 = (x + 1) 90
x = 9

þ™)îÅ ›)œÄ 90 10
9

  Ýþy„þy/ö„þ!‹

86. x!šþöì¢îû ö›yÝþ „þ›Å‰þyîû# = 100

ö›öìëûîû ¢‚…Äy = 40, þ™%îû&öì¡ìîû ¢‚…Äy = 100 – 40 = 60
ö›öìëûîûy ö¦þyÝþ ö”ëû = 40 × 40% = 16 ‹˜
þ™%îû&öì¡ìîûy ö¦þyÝþ ö”ëû = 60 × 60% = 36 ‹˜
 ç£z îÄ!_« ö›yÝþ ö¦þyÝþ þ™yëû = (16+36) % = 52%

87. •!îû– A = 100, B = 125

 B ~îû ›y˜ Ÿ“þ„þîûy A ö‰þöìëû „þ›
25

100 20%
125
  

88.  80 100 %
920

800
92

 

ö›yÝþ œy¦þ
800 15 800

15 25%
92 92 100


   



89. Çþ!“þîû Ÿ“þ„þîûy þ™!îû›y’ =
5 5

5 5 0.25%
100


  

Çþ!“þîû þ™!îû›y’ 0.25
9600 24

100
    Ýþy„þy

90.
2 3 5 11 100 6 %
4 (5 3) 4
       

Çþ!“þ

91. ™%îû&öì¡ìîû xíÅ : ›!£œyîû xíÅ = 2 : 1
›!£œyîû xíÅÅ : îyœöì„þîû xíÅ = 3 : 2
1 ‹˜ þ™%îû&¡ì : 1 ‹˜ ›!£œy : 1 ‹˜ îyœöì„þîû xöìíÅîû x˜%þ™y“þ
= 6 : 3 : 2
3 ‹˜ þ™%îû&¡ì– 5 ‹˜ ›!£œy ç 7 ‹˜ îyœöì„þîû xöìíÅîû x˜%þ™y“þ
= (6 × 3) : (5 × 3) : (7 × 2) = 18 : 15 : 14

“þy£öìœ 5 ‹˜ ›!£œyîû ¦þy†  1547000
47

 

= 15,000 Ýþy„þy

92.  „þöìëûöì̃ îû x˜%þ™y“þ 100 100 1005 :3 :1
100 50 25

   

= 5 : 6 : 4

1 Ýþy„þyîû „þöìëû̃  xyöìŠé 465 5 155
5 6 4
   

50 þ™ëû¢yîû „þöìëû̃  xyöìŠé 465 6 186
5 6 4
   

25 þ™ëû¢yîû „þöìëû̃  xyöìŠé 465 4 124
5 6 4
   

93. „%þ„%þîû !îvþüyœ

!˜!”ÅÜT ¢›öìëû þ™”öìÇþöìþ™îû x˜%þ™y“ þ 4 : 5

™”öìÇþöìþ™îû ÷”öì‡ÅÄîû x˜%þ™y“ 3 : 4

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å



9Achievers
 „%þ„%þîû ç !îvþüyöìœîû †!“þöìîöì†îû x˜%þ™y“þ
= (4 × 4) : (5 × 3) = 16 : 15

94. ²Ìí› !›×öì’ ‹œ
5

8
x‚Ÿ– !m“þ#ëû !›×öì’ ‹œ

5

16
x‚Ÿ ~î‚

˜“%þ˜ !›×öì’ ‹œ
1

2
x‚ŸÐ

5
8

5
16

!m“þ#ëû !›×’²Ìí› !›×’

˜“%þ˜ !›×’

1 5 3

2 16 16
   
 

5 1 1
8 2 8
   
 

1
2

 ²Ìí› !›×’ ç !m“þ#ëû !›×öì’îû !˜öì’Åëû x˜%þ™y“þ
3 1

: 3 : 2
16 8
 

95. •îûy ëy„þ– ²Ìí› ²Ì„þyîû x ~„þ„þ ç !m“þ#ëû ²Ì„þyîû y ~„þ„þ ö›Ÿyöì“þ
£öìîÐ

²Ìí› ²Ì„þyîû x ~„þöì„þ !¢îûyþ™
3x

8
  ~„þ„þ– ‹œ

5x

8
  ~„þ„þ

!m“þ#ëû ²Ì„þyîû y ~„þöì„þ !¢îûyþ™
6y

7
  ~„þ„þ– ‹œ y

7
  ~„þ„þ

 ö›yÝþ !¢îûyþ™ ç ‹öìœîû x %̃þ™y“þ
3x 6y 5x y

:
8 7 8 7
        
   

= (21x + 48y) : (35x + 8y)

²ÌÙÀy˜%¢yöìîû–
21x 48y 4

35x 8y 3





îy– 140x + 32y = 63x + 144y

îy– 77x = 112y  îy– x 112 16

y 77 11
 

 ”%ó!Ýþ !›×’ 16 : 11 x˜%þ™yöì“þ ö›Ÿyöì“þ £öìîÐ

96. x‚Ÿ !“þ˜!Ýþîû x˜%þ™y“þ =
1 1 1: :

10 4 4 4 8 4  

      =
1 1 1: :

10 4 8  = 4 : 10 : 5Ð

~…yöì̃ – 4 + 10 + 5 = 19 ~î‚ 95000 ÷ 19 = 5000Ð
 ²Ìí› x‚Ÿ = (4 × 5000) Ýþy„þy = 20000 Ýþy„þyÐ
!m“þ#ëû x‚Ÿ = (10 × 5000) Ýþy„þy = 50000 Ýþy„þyÐ
~î‚ “,þ“þ#ëû x‚Ÿ = (5 × 5000) Ýþy„þy = 25000 Ýþy„þyÐ

97. „þ˜Äy ç þ™%öìeîû ›öì•Ä î!^ùÝþ“þ Ýþy„þyîû x˜%þ™y“þ

1 1
: 13 :15

100 (18 13) 10 100 (18 15) 10


     

„þ˜Äyîû x‚Ÿ
13

280000 130000
13 15
  


 Ýþy„þy

98. 12 îŠéîû xyöì† Aôé~îû îëû¢ !Šéœ Bôé~îû îëûöì¢îû 2
3

 x‚Ÿ

î“Åþ›yöì̃ Aôé~îû îëû¢ Béôé~îû îëûöì¢îû 5
6  x‚Ÿ

Bééôé~îû îëû¢
 212 1
3 24

2 5
3 6


 


 îŠéîû

Aééôé~îû îëû¢ 5 24 20
6
    îŠéîû

îëûöì¢îû ¢›!ÜT = (24 + 20) = 44 îŠéîû

99.
40 x 3
60 x 5
 
  x = 10

100. ¢›hßþ ²Ìy’# ›%îû!† £öìœ ö›yÝþ þ™y = 70 × 2 = 140!ÝþÐ
¢›hßþ ²Ìy’# Šéy†œ £öìœ ö›yÝþ þ™y = 70 × 4 = 280!ÝþÐ
²Ì„,þ“þþ™öìÇþ þ™y = 180 !Ýþ

140 280
Šéy†œ›%îû!†

180

100 40

¢›hßþ ²Ìy’#

 ›%îû!† ç Šéy†öìœîû x˜%þ™y“þ = 100 : 40 = 5 : 2

 ›%îû!†îû ¢‚…Äy 5
70

7
  !Ýþ = 50!Ýþ

——————

xÄy!‰þ¦þy¢Å
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